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201941 H
Y& AE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.004 - 0.078 0.013 &
S TR 1.512 0.000 - 0.603 0.072 =
/b= (HCI) 4.545 0.004 - 0.295 0.139 s
mIbE (HF) 0.306 0.003 - 0.131 0.050 s
—E/Ehi (SO2) 15.147 0.027 - 7.746 1.962 =
—&Ei% (CO) 7.578 0.003 - 0.287 0.039 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 1.073 - 6.280 2.529 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.008 - 0.018 0.013 &
S T 0.756 0.019 - 0.128 0.072 =
/b= (HCI) 0.756 0.097 - 0.184 0.139 s
mIbE (HF) 0.072 0.044 - 0.055 0.050 =
— &b (SO2) 3.789 1.505 - 2.297 1.963 =
—&Ei% (CO) 3.789 0.014 - 0.058 0.039 =
HEY (NOx)
LIS [EE (NOy) 15.147 1.678 - 3.758 2.532 =
EHE
28 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
IR R g ) 7.575 x 10°° <6.105 x 1020 &
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Y& AF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.072 0.005 &
S TR 1.512 0.020 - 0.184 0.040 =
/b= (HCI) 4.545 0.039 - 0.234 0.129 s
mIbE (HF) 0.306 0.009 - 0.091 0.045 s
—E/Ehi (SO2) 15.147 0.001 - 2.947 1.735 =
—&Ei% (CO) 7.578 0.001 - 0.043 0.011 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 0.688 - 6.880 1.902 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.004 - 0.006 0.005 &
S T 0.756 0.029 - 0.055 0.040 =
/b= (HCI) 0.756 0.102 - 0.163 0.130 s
mIbE (HF) 0.072 0.039 - 0.050 0.045 s
— &b (SO2) 3.789 1.419 - 2.188 1.734 =
—&Ei% (CO) 3.789 0.005 - 0.019 0.012 =
HAY) (NOx)
LIS [EE (NOy) 15.147 1.372 - 2.425 1.901 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0054 &
R R g ) 7.575 x 10°° <5.972 x 1010 &
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S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.001 - 0.706 0.208 &
S TR 1.512 0.014 - 0.602 0.071 =
/b= (HCI) 4.545 0.009 - 0.205 0.081 s
mIbE (HF) 0.306 0.001 - 0.066 0.037 s
—E/Ehi (SO2) 15.147 0.074 - 2.739 1.857 =
—&Ei% (CO) 7.578 0.001 - 0.120 0.037 =
FALY) (NOx)
PLZEEE (NO2) 30.303 0.531 - 6.807 1.771 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.102 - 0.255 0.208 &
S T 0.756 0.021 - 0.137 0.071 =
/b= (HCI) 0.756 0.038 - 0.128 0.080 s
mIbE (HF) 0.072 0.022 - 0.043 0.036 s
— &b (SO2) 3.789 1.467 - 2.170 1.856 =
—&Ei% (CO) 3.789 0.019 - 0.074 0.037 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.953 - 2.516 1.771 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0052 &
R R g ) 7.575 x 107 <5.826 x 1020 &
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&% BF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FFEEH — B/NERPEE(BEFREERENRREE)
(CGA 2.277 0.002 - 0.022 0.003 &
S TR 1.512 0.013 - 0.659 0.069 =
/b= (HCI) 4.545 0.025 - 0.251 0.086 s
mIbE (HF) 0.306 0.011 - 0.077 0.034 s
—E/Ehi (SO2) 15.147 0.059 - 2.311 1.519 =
—&Ei% (CO) 7.578 0.000 - 0.082 0.035 =
HEEY (NOx)
PL=&1E%E (NO2) 30.303 0.393-5.273 1.462 =
i E
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.002 - 0.005 0.003 &
S T 0.756 0.017 - 0.103 0.069 =
/L4, (HCD) 0.756 0.060 - 0.178 0.086 =
mIbE (HF) 0.072 0.030 - 0.038 0.034 s
— &b (SO2) 3.789 1.063 - 1.880 1.519 =
—&Ei% (CO) 3.789 0.015 - 0.060 0.035 =
HEY (NOx)
DL & %, (NO2) 15.147 0.645 - 2.480 1.462 =
EHE
S8 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0013 =
E4EEE" 0.0378 <0.0058 &
R R g ) 7.575 x 107 <6.559 x 1020 &
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